
Seite 1 von 2 
 

Benzinrasenmäher A 448 S 
Art. Nr.: 26167, 25994, 26094 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

www.ersatzteil-service.de www.ersatzteilplan.de

Ihr Ersatzteil-Partner



Seite 2 von 2 
 

Benzinrasenmäher A 448 S 
 
 

Art.Nr.: 26167, 25994, 26094 A 448 S  
Bild TeileNr. Bezeichnung St.

 75580 Motor Tecumseh Vantage 3,5 PS Br. 1
1 62560 Gehäuse Windk. Co. 1
2 11330 Prallblech Windk. 1
3 70840 Rad 150 mm GL RAM 15 4
4 13590 Radbolzen 4
5 73180 Griffoberteil Jag.Br. 1
6 65880 Griffunterteil 48 Jag. 1
8 62410 Kabelklemme 1
9 19870 Messerbalken 48H 1

10 65790 Schwingungsisolierung 1
11 73100 Bundbuchse Br. Griff-O 2
12 17630 Messerflansch Asp. 4-Takt k. Welle 82 1
13 17660 Messerschraube k.W. 2 1/2 Zoll 1
14 65590 Scheibe-Reib-Messer 1
15 13890 Federkeil 1
16 65660 Beilagscheibe (Messer) 1
17 72880 Seilzug Br. 48 S o. 1
19 13570 Schrauben 8x16 4
20 63680 Schrauben 8x40 3
21 13370 Mutter M6 4
22 13330 Mutter M8 2
23 65620 Mutter M10 Sperrzahn 4
24 13300 Zahnscheibe A6 2
25 18500 Schrauben 6x12 2
26 72920 Schaltbügel Br. 48 1
27 13250 Beilagscheibe A10 6
28 73980 Flachrundschraube 6x35 1
30 64050 Halbrundschraube 8x35 2
31 13360 Mutter selbstsichernd M8 3
32 13100 Beilagscheiben A8 3
33 74730 Seilführung Holmstart 1
34 62770 Mutter M8 Sperrzahn 4
35 17070 Krallenklemmscheibe A8 1
36 68840 Zierkappe RAM 150 4
37 13280 Scheibe Zahn A 10 1
38 13290 Zahnscheibe A8 2

 
 

www.ersatzteil-service.de www.ersatzteilplan.de

Ihr Ersatzteil-Partner


	Benzinrasenmäher A 448 S
	Benzinrasenmäher A 448 S



